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Q. TF o o faaul &l AFaTe 6+/3 HHT g1 SHET
AT BT
Q. The length of the diagonal of a cube is 63
cm. Its volume will be: (a) 216
M2
(b) 216
cm?
(c) (a) &
(b)
(d) 216

m?3
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Q. IE T 99 FT AIqA
1728 9413 g, T = =1

Tl T &6 FIT 57
Q. If the volume of a

cube is 1728 cm3,

then what 1s the total

carBé wrea ofthe
élabe??

(b) 729 =i
2/cm?

(c) 864 T+t
2/cm?
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Q. 21 FHT T 3T 5 GHT AT sl AT AT a0 AT oA
AT toha=T gRIr?

Q. Volume of a right circular cylinder of height 21 cm and

base radius 5 cm is: (a) 1255
cm?®
(b) 1050
cm

(c) 1175
cm?
(d) 1650
cm?
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Q. T Ttk 7 et T ATHRT 91T a1 HHT g, aqv

JHAT ATTAA T30
Q. A sphere has a total surface area |
Its volume is:

(@) 36 T
cm?3

(b) (9/2)
cm?3

(c) 18
cm?3

(d) (4/3)
cm?3
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Q. TSk g FT A

660 = HT B ITeht

ST it TorET oo
I IFhT =SAT 5 9HT
=l

Q. The volume of a
oylinder is 660.Gubi
¢ .8Chichlatm its(he )t
iftggipdius is 5 cm.

(c) 9.4 5dt/cm (d) 9.0
"Ht/em
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Q. T A T AT AT
I?lwa 7cm S favE]
AT Tohd =T g2

Q. A cone has its base
radius as 7 cm and

slantheight as 25 cm.

{tHel ¥aitinte of the cone

Wmsbe:
(b) 3696

cm?3
(c) 1864
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Q. TF FHL i AT, FISTe
AT SATS HHI: 5 H1e, 4
Hie 3T 3 Hie 81 A1
ST T &TARA g 7

Q. The length, breadth and
height ofaroomare 5m, 4

m and 3 m respectively

Wh a(ﬂ)sﬁﬂéqu@éeof the fouf
wallgeters/asT Hiex

(b) 54 square
meters/a T HieX
(cy64square

meters/a T ®ex
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Q. T 319 A AT SAT i

=547 21 cm 3T 39T 16 cm

2| T8 9 dda! (curved
surface) &% &l TTd FH
Q. A solid right circular
cylinder has a radius of 21

cm and height of T6 cm.

What is
area?

I{a )cCROVEY |
cm?

(b) 2002
cm?

surface

(C) 2070
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Q. T TATHT @I F AT
1, Toraeht aredl BsaT R &
Feaedl AT g, e T g1
gatdra ot Srar 87

Q. The volume of a spherical
shell whose outer radius iIs R

and inner radius IS

gntegdy which
@W 32

IGSES)
(c) (4/3)
m(R?-r?)
(d) (4/3) rr3
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Q. TF GIGAT TATHL Gl F
AT Ud dTg] Adal STl FHHT:
GATT T THT AT 14471 97 9H g1 =0
[eTehe 38 THT S 519 9F |
TREfdd Y TordT 37| 9 o ST AT
AL (HHT H) g7

Q. The internal and external

surface areas of a hollow spherical
shell are 641 cm? and 1441 cm?

respectivety—ttrsometted r?ééi
&égﬁ‘gﬂed in{gbggglid CO 16

I(]@)ggt 38 cm. What is the radius (in
cm) of the base of the cone?
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Q. TT< T g el Tl

AT 181 cm3 g, T 349
G Tl T FHeT Adg]
SRS Toha a1 SITT7?

Q. If the volume of a
hemlsphere is 181 cm?3,

Nen the fotal surface
é@r)e%76f thé hemisphere

(b) 181
cm?
(c) 241

cm?2
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Q. e w9 Y T ST
ATHA 128 a7 HY g ¥

JAT ATSTs TUEL g UF SAT% 4

HT g FHL 6 T AT AARA g7
Q. The area of the four walls
of aroomis 128 sq. m. The
length and breadth are

[VE] retgrtsi4 m.
V\?hat is Qﬁé ﬁ&eﬂ‘gf the|floor
of the ryoifsy. m.

(b) 64 a1

dt/sq. m.

(c) 81 ER]
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Q. I TF I HieL o1 & 25 ﬁ%‘rg%
Tl | FTECh Ivg Ush 19 H Teh o JHUL
Uk TEHT Tt AT aq18 10, d1
3Tl SaTs Tehael gt ?

Q. If one cubic meter of solid is cut
into cubes of 25 cm and placed one

above the other In a straight line to

raight line, tHeh Svhat will e
iaght? der/meter

(b) 16

dre</meter
(c) 328
dre/meter

(AN A0
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Q. TF = FT 71T 25 THT
x16 THT x10 "HT g1 24 H¥
AT, 6 UT 34T T 0.4 |
HqIET <A1 49719 6 o
ENGIECES R

Q. A brick measures 25
cmXx 16 cm x 10 cm. How

. il b
(@880 build & wall 24

RIIHL9S m high and 0.4

(R)tARK40
(d) 15000
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Q. T AT 91F FT AAAT 4620 T AT T AT
THh AT sl AT 7 HHT g, T AF sl HATs Tehal |
27 [mr= (22/7)]

Q. The volume of a right circular cone is 4620
cubic cm. If the radius of its base is 7 cm, then
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Q. 24m & 3T 14m =T TF @d H 9m 4T, 4m JTET 3T (1/3)
M LT U & GiaT T g1 I Giat T2 [Hel 7 6979 9 9 9
Td U HATAT ST, qT & 1 AT [ehadT 9@ STuI?

Q. A tank 9 m long, 4 m wide and (1/3) m deep is dug in a
field 24 m long and 14 m wide. If earth dug out is evenly

spread out over the remaining field, the level of
rise by? (a) 4.5
cm

(b) 5 cm
(c) 3.5 cm

(d) 4 cm






